MSIT 458 

Homework 2
Group Name: 

1. Suppose that you are working on moving a business transaction system to the Clouds and need to add access control to it through kerberizing the system.  Is Kerberos provided by Cloud providers such as Amazon EC2 and RackSpace?  If so, how?  Hint: it may be supported as a standalone service but as part of a system.
2. Why do we need two-step authentication in Kerberos?  What about if there is no TGS, but to have KDC issue the service ticket?
3. Propose an email-based protocol for botnet rallying and Botnet command & control. Assess your protocol’s ability to satisfy three desired properties: robustness, stealth, and mobility.
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